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M « READ_IMAGE (InputFile)
Python, VBScript 2! JScript2 A3 E Ha|& Sl ]
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HESS Sol AUE H B hS A= error (“File not found”)
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for i € 0..rows(M)—1

T2y for j € 0..cols(M)—1
N it M <125
M=ot T2 el PRt XA 25 HI|He i3
AHEStH 2%] 327t A «—255—M +contrast
1,7 1,7
S I(for, while) ifA >255
ZHL(, else if, else) 2
A 255
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else
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ifA <O
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A =0
1,7
WRITEBMP (OutputFile,A)
max (A)
return | mean (A)
| min(A)

SUE X AU ALH- 7 A2 PTC X HO|X|E

© 2025, PTC Inc. (PTC). Allrights reserved. 2 2A40f 7| £E LIE2 HE N3 SMo=2
A EX| glo] HEE = ACH PTCO B F, o4 = MO 2 s A |0{ M= ot ELICH
PTC PTCE21 Y 2= PTC HE O|E2 211 = 0|=, Chgtel= 8! 7|EF 7t A PTC 2/
e AXRAC M EE S5 ABYLICEL I|EH2E XS £E 3|AHO|E2 2 ARKIY
THARRILICE AHZQl E = 7|58 Eeel EX ME HalX Al7|= PTCe Z2F0 w2t

HEE 5 AFLICE

642339 _Mathcad_Prime_11_DS_0325-ko

4/4H|0|X| | PTC Mathcad mathcad.com


http://mathcad.com/ko
https://www.facebook.com/ptc.mathcad/
https://www.linkedin.com/showcase/ptc-mathcad
https://www.youtube.com/MathcadTV
https://twitter.com/PTC_Mathcad
https://support.ptc.com/partners/hardware/current/support.htm

